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PART - III

sewia@LuSleflwuey / ACCOUNTANCY

( 30 iy oyhde enfl /Tamil & English Version )

&Ter jamey : 3.00 wenfl Cryd | [ Qurgg wALGuasd : 90
Time Allowed : 3.00 Hours ] | Maximum Marks : 90
Sidleyennaet : (1) Simends efamés@nd sfwrs ufleurdl 2 drergr erenugener Fhlurtégs

Instructions :

@Oy = (i)
(if})

Note : (i)

(11}

(2)

Qardrerayb. SEsLLAND Gepud UG Swns sarsrefluuTarfiLb
o Lemquinrsg Csflelssayb.

fooh sdwg snUY @wldoa  wLEGEW T(PFIUSMHELD
23565 PaugpEh uauBRss Cauamfb. ULREE amrashE
Quendlé) LLETURHFSED.

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.
u@sl - I/PART - I
Siemengs SarmaseniEn ailaweflEgab. 20x1=20

Qer@ésiiu’_Herar wrpn danLseflld Wasayb ghuew dlamwg

Gamb0sPEHs GO QL elaulenanyh Cersg erpsa.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives

and write the option code and the corresponding answer.

[ Sy / Tum over
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e sELnefl gaiamm wng @mfudgnd g @M Garasmn alphmons
TRHeEQeraend Cung by a@ULsd By sansd_luBin el gs@ilu
WwremiEe apnetiing

(e4) 12 onghiadt () 5.5 wrgiiadr (@) 6.5 wnghimdr () 6 OISHEET
When a partner withdraws regularly a fixed sum of money at the end of every
month, period for which interest is to be caleulated an the drawings on an average
is :

{a] 12 months b) 5.5 months (¢) 6.5 months (d) 6 months

e® Qb whQApryp QeargCarE Qup M ahé @i Qi Genen &anfl g6l wie

wapwllé smaug
(=) wrdf (<) Pra) (@) Srwranbd () efdlgn

The mathematical expression that provides a measure of the relationship between
two figures is called
(a) Model (b) Conclusion (c) Decision (d) Ratio

Tl wHnb Aswellars samsE swrlléstu@asea ol saT_PulLbaE)
(=) 2ufl Sbeg uppTEEen (<) PTUD SdRg FLLD

(@) B8 faa () Qgrésd whmb i Gmuy
Income and Expenditure Account is prepared to find out :

(a) surplus or deficit (b) profit or loss

{(c) financial position (d) cash and bank balance

aLLran Gerly Gamiurs Gereumb shpsais g o arawurasa ?

(1) &l rawranw Ameuanoreng ySw RUUBSSHET Sip O SLL@ESLLGHD.

() Gurgieuns sl Lreflsaflar Lyavur 2 Mewser wrpb.

(@) gnseCes o ater @UUBSLTENS (P &E daran(d ariuLTg).

(F) phersw a@r@saflan @arub whHmb pULRSE UMW sl LTelsEnss
vdlrpgeflésiuL. Geuam@i.

Which of the following statements is not true in relation to admission of a partner ?

(a) The firm is reconstituted under a new agreement

(b) Generally mutual rights of the partners change

(¢) The existing agreement does not come to an end
(d) The profits and losses of the previous years are distributed to the old partners

vwanflenr CaaneusCanu swriEsULEL smmédud Shamswurarng :

(=) @muumie] () updsioran samsdlud oidldens
(8) @miy AerasEhiiy (F) @AudlL Cerss siflsams
Accounting report prepared according to the requirements of the user is
(a) Trial balance (b) Routine accounting report

(c) Balance sheet (d) Special purpose report
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Wétamib @madnbiseild am gamna ?

() aroy gped Poiohes samdg@d Gung Hegibgiony smpin (s

LIREAmE).
(eot,) Qi Ot Labignpd, copbifailaariul L unggapgene efll gmGUTmD

@ HI00ES (D(HEHHhH LTE).

L

(@) Qe sl LBIGHAPSD, ‘..meg,-n.uum; urhigs apgeblen gm uGs LG,

(n) UR@EaET Gon @ULone Glimbsin .jﬂsm:,uu%h Qeueflficiul L Uk (pse
QUi UkIgapaena @il menme s GmEGID.

Which of the following statement is false ?

(a) Reserve capital can be called at the time of winding up.

(b) Issued capital can never be more than the authorised capital.

fc) Paid up capital is part of called up capital.
(d) In case of under subscription, issued capital will be less than the subscribed

capital.

Anws seauddar Gurg wiHGw SHDIPESILILSFalg W LRI sl @ UGS
ere &Im&g&k&ﬁlu@m.

(=) wasllars sTUY (=) omadshéaiulL (pge

(B)) smiy apge (F) siepdsliulL Qs

That part of share capital which can be called up only on the winding up of a

company is called :
(z) Capital reserve (b) Authorised capital

{c)] Reserve capital (d) Called up capital

Bene) 2iflEens G5

() Qurés ‘r_r;l_emq.é;mer;emﬂm QEmELIL|

(<) euqomentd wpmb Clewa s SiflEens
(B) sLer BLcuigdansgeflen Qam@giiy

() Qempgadt b AurmLLsET oiflfans
Statement of affairs is a

(a) summary of cash transactions

{b) statement of income and expenditure
(¢) summary of credit transactions

(d) statement of assets and liabilities

em GALGC L Cprésssibans Quim EarblErenL :

(@) augpaunuian Cawey (<a1,) eugpeurullen euya)
(@) epgeilend Waway () gppedan augal
Donation received for a specific purpose is .
(a) Revenue expenditure (b) Revenue receipt
(¢} Capital expenditure ({d) Capital receipt

[ lgsays / Turn over
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10.

11.

12.

13.

14.

dmllLrareie guuraiamd Qdaarg Heomuld Ameenpda @earun sl ired
saflan G udlibsell&suBeg

(=) swwoman o5l fzsda (o) apad efldlgsdd
(@) (=) whmbd (<) (] Gupamflu egeflame

In the absence of a parinership deed, profits of the firm will be shared by the
partners i

(a) Equal ratio (b) Capital ratio

(¢} Both (a) and (b) (d) Nonec of these

Qurgitiyseaars smggin O@suns o dar Gangsdsar i

(1) upged (<) BL1_1b (@) Berutd () Q@rré&asn
The excess of assets over liabilities is .
(a) capital (b) loss (c) profit (d) cash

& Boeuensdlen sLbs spbsl 2 adm@saon Bleorufiser emeughommy :

2014 : ¥ 4,000 ; 2015 : ¥ 3,000 ; 2016 : ¥ 5,000 ; 2017 : ¥ 4,500 whmbd
2018 : ¥ 3,500.

S Gem@setlar srrafl Eerum _ :

{=1) T 6,000 (<) T 12,000 (B) T 4,000 () ¥ 5,000

The following are the profits of a firm in the last five years :

2014 : ¥ 4,000 ; 2015 : T 3,000 ; 2016 : T 5,000 ;2017 : T 4,500 and 2018 : ¥ 3,500.

The average profits of five years is ;
(a) 6,000 (b) ¥ 12,000 (c] T 4,000 (d) % 5,000

weudimu el siflawrs Qubp Ggres i) aasslLED Samés, :
(24) Ui (psed samrdg (<) usAr (pevennd sarss

(&) v eoidpiys sorse  (F) Sy PaUms SaTsE
The amount received over and abhove the par value is credited to

{a) Share capital account (b) Securities premium account
[c) Forfeited shares aceount (d) Calls in advance account

B8 Hlenay sifldenssar Ceuafldam L rgs)

(=) ol sray sEeuaaT (=) Lemd syr gHeudseT
() Baml. sre) smaidadT (F) BLES ane sseUdEem
The financial statements do not exhibit

(a) Short-term data (b) Non-monctary data
(c) Long-term data (d) Past data



15.

16.

17.

18.

5

CEma] Syt ammdlng Tally-d 61ha, alens angmmraen add ot ?
;) iy Piha 3 - e -

(<) Qardrgped an@mralasi (e21,) GUmEDAET ananpTaIammD

(@) Qequasdad anapratanth (1) @Gl TG ETILD

In which voucher type credit purchase of furniture is recorded in Tally ?
(u)  Purchase voucher (b)  Receipt voucher

{¢) Payment voucher {d) Journal voucher

Epaparahile ag sflunarg ?

() ewi @b - sgnef] @erun - srgmres Gaonub

() cwi @aTub=CQiotés @arub/syap sl aaamlsmns
(@) cwi Qarub=gyrefl Garux Qararapsd pembae
(M) ewr Qorub=a&l{ Gorub/yar@saldn aaraésns
Which of the following is truc ?

(a) Super profit=Average profit—Normal profit

{(b) Super profit=Total profit/number of years

(¢) Super profit=Average profitx years of purchase

(d] Super profit=Weighted profit/number of years

sr&Aniy Lpob paramlyd Cegsdu Ceaaysd phsars 2 emer BLLUIL|E
ClansgideeT :

(=) B8 (=) sriyaer

(@) eflanra) Qersgibaar () yaem@n Asnsgl

Current assets excluding inventory and prepaid expenscs is called :
(a) Funds {b) Reserves

{c) Quick assets {d) Tangible assets

pudJISH saEE G ;

(1) S drent Lamss () ClFTsg) saTEE
(@) syeremym s@TEE () Quurerey serbs
Revaluation Account is a

{a) Personal Accaunt (b) Real Account

(¢) Impersonal Account (d] Nominal Account

[ Sapligs [ Turn

5957

aver



5957 6

19. Geraumd amsdiubsaia g sfumasan ? G

(1) Gurd@l uGLLMiley eTéLg @rTamged Agrassaiid ThUGD WMHDEEDT
<2piay Qolimanas GilugTEb. .

(<) GHOUsET HDD UL G Lidser Dfiflensr ifléenaaailer LGS c%é]‘”m.m

(@) Qurg siamay efsms o Qung olqlILenLGanend Qsran() ueu(‘.?mg
Qekisafler QpniiGeans s Hasrgn. QLIS SHeal s LU e
#3ellflsors srLnufddmen. s

(%) B feoew @iflsms Lo uniear smedsaod Qury el Sifléms
o_GTETLRIELD,

Which of the following statements is nat true ?

(&) Trend analysis refers to the study of movement of figures for one year.

(b) Notes and schedules also form a parl of financial statements.

(¢} The common-size statements show the relationship of various items with

some common base, expressed as percenlage of the cammon base.
(d) The wols of financial statement analysis include common-size statement.

20. wmywsiTlyer Cuirg Aumy i seiicr <flsfliy smeug :

(<21) BLLD (<24) @aomuid

(@) @gmub () Cupsear gguldene
On revaluation, the increase in liabilities leads to :

(a) Loss (b) Profit

(c) Gain (d) None of these

u@dl - I / PART - I
GUlLY : semeuCuenid g alaméserés ol walsaab. élar aar 30-&@
SLLmuwns eilewallsseyib. 7x2=14

Note : Answer any seven questions. Question No. 30 is compulsory.
21, few AfEns ceprd edanan ?

What is statement of affairs ?
22. o186 GarenL eremmmed ereman ?

What is legacy ?

23. gelflgm eremue GF SLLramm Hnembden amlLrafl. et epsswnrs ge
Gaur(m wrsaptd ¥ 2,500 ar(zé Caratdlont. erGuyser Sgi ey oyam(EsE 4%
samsdlLtiuL Geuem Q. e geuten wrg AsTLéssdd a@58mHsTD
arPUysdr By el g Fmrefl sra papewul LwetuRSSH seamsdayb.,

Kavitha is a partner in a firm. She withdraws ¥ 2,500 p.m. regularly. Interest on
drawings is charged @ 4% p.a., calculate the interest on drawings using average
period, if she draws at the beginning of every month.



24.

25.

26.

27.

28.

29.

30.

2 T QQMUID cTaipie erene ?

What is super profit ?

Swrs e9dgb aramned crenar ?

What is sacrificing ratio ?

salLnmall efl@sd eranmrdd eremen ?

What is meant by reticement of a partner ?

Suge aorup Hmwd T 10 whHlyder 50,000 Cpirenol uk@senar T 3
paoansdd daalllig. sioaks Gsrensuid dlameamiiusg e dogissU
ulegy. GHUCULE ufeysmars srab.

Abdul Ltd, issues 50,000 equity shares of ¥ 10 each payable fully on application.
Pass journal entries if shares are issued at a premium of ¥ 3 per share.
EpsanL ssaussaldlEhe cera dldssmss gamdélLaib.

Qurés pLUy Qurmiysd T 2,40,000; Aurss pLOy Gerggser T 4,50,000;
Fr&élmuy T 70,000; (perT suligé Qg GaevayseT T 20,000.

Calculate quick ratio from the following details :

Total current liabilities ¥ 2,40,000; Total current asscts T 4,50,000; inventories
T 70,000; prepaid expenses I 20,000.

sralukigh samsdud (pap aapTe craren ?

What is automated accounting system ?

Qeaugnid efeuniiseefmbs e Cor Hpinbdlan @UUEL{H eumomen oiblsmaeani
guir Gelwa)b.

s 2016 - 17 | 2017 - 18
fd 3

el Liane Q;:GUL'U Qumm au(mHeum 1,00,000( 1,25,000

)& eu(HTaTILIST 25,000 20,000

Qewea ser 75,000 60,000

From the following particulars, prepare comparative income statement of Tharun
Co. Lid.

Pariisiom 2016 - 17| 2017 - 18

I 4
Revenue from operations 1,00,000( 1,25,000
Other income 25,000 20,000
Expenses 75,000 60,000

[ Hmoys / Tun

5957

OVEr



5957 8

Lgd) - 11/ PART - 1T

@y : seoautugid gup cflennaa@nda ol ualbma)n. eflann o 40-5&

Note :

31.

sLLmuors ala walssa)n.

Answer any seven questions, Queslion No. 40 is compulsory.

Tr3=21

Haraimu sSeurrsall mig rdianmramg & Gop@srar Quwrgs eilbuesama

s fluayb,

efleu o 4
2018 garaul 1 ey &L enmaflas 1,30,000
< GLIEL TeTie. &) sLeamaflsefiiflmibg Ayrésn Quppg | 420,000
Sl uenas &mliLib 35,000
GUTTTS SLen 15,000
2018 ysibuit 31 ey s_anmeflser 2,00,000
Qyrés eSlhuenen 4,60,000

From the following details find out total sales made during the year.

Particulars X
Debtors on 1% January 2018 1,30,000
Cash received from debtors during the year 4,20,000
Sales returns 35,000
Bad debts 15,000
Debtors on 31" December 2018 2,00,000
Cash sales 4,60,000




32.

33.

34.

35.

9 5957

RLETEY, LA, afhaih 1npond G afluid o Hpaiagflen Fa el meir. snl__mamranto
eUUneIRmID @\a*mraﬂ(m gl Yetaim et henm eI Pmm@a}.nmmmeﬁ ?

() ysnay adas appd e dydrarmi. el appebg el <o, 6 (515 (5
10% Gangmdpnt

(1) paray @enusdoa wpad cfgsdd udlirppeilis Caer [ sren flmmn
@pamd Up sLnellsd wogamen gliLs@arararailaena,

i) spacaun® Hpaasdns wphstule sld T 50,000, o6l sLan Bg)
Qully SETES 12% Goaun(@weny GanmaAnT.

Akash, Bala, Chandru and Daniel are partners in a firm. There is no partnership

deed. How will you deal with the following ?

(i Akash has contributed maximum capital. He demands interest on capital at
10% per annum.

{ii) Akash demands the profit to be shared in the capital ratio. But, others do
not agree.

(iii) Loan advanced by Chandru to the firm is Z 50,000. He demands interest on
loan @ 12% per annum.

o PAnaasdd sLbg HanE SparHaaiien @arukisedr wHHIb HL Lk s
9lemeu(HLomD)

2015 : T 15,000 ; 2016 : T 17,000 ; 2017 : ¥ 6,000 (BLLib) ; 2018 : ¥ 14,000

4 syex(hscfian srmefl @aomusdld 5 Spanpadr AaTaTIpFEL 6TeD g L1ugnLulisy
pHQuwian wlieus sarkdle.

The profits and losses of a firm for the last four years were as follows :

2015 : ¥ 15,000 ; 2016 : T 17,000 ; 2017 : ¥ 6,000 (Loss) ; 2018 : T 14,000

You are required to calculate the amount of goodwill on the basis of 5 years
purchase of average profits of the last 4 years.

sl Ll Gaiggn Gung Cuop@srarer Gauiy eflal_(Daser wWreneu 7

What are the adjustments required at the time of admission of a partner ?

Huns HEssHpED srw elfssEdEn 2 arer Geupiun(RaeT wreneu ?

Distinguish between sacrificing ratio and gaining ratio.

[ Slpliys / Turn over
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36,

37.

TEgen Nmiom T 6,00.000 whyder Guipdyges Agma Hpamsdb b
g o LmQanam T 10 nd e appflgnd smiasuuTL Gpronthl
LI @E@ET o6 i @hd Hagigs Cadingu Garammmsis VT ALY B Sipsmanm
Fenarmafld Ll Gaudhg @MOGULE0 uhlamamatd Grab.

0 va@sear gpsndidlad Qeafllud Lird
(il  LREsaer 50% YpevanpgHa CeuafludlLmed

Rajan Ltd. purchased machinery of ¥ 6,00,000 from Jagan Traders. It issued
equity shares of ¥ 10 cach fully paid in satisfaction of their claim. What entries
will be made if such issue is made ?

(il shares issued at par.

(i) at a premium of 50%.

wilur LHme sor Fnosddr Aeramb saeuaseaiel(phg 2019 wrié 31 -0
BrEarr(d Wl suenl b spam &G Qurg erey sugpwrer oHl&Eeans s
st Galweyb.

) wflwr fmuoin ‘a’;&)n bl
T S | By
z | 7
eilibusnen eped Aubm amaumis 1,00,000 2,00,000
@EEr eu(FLoTED 10,000 30,000
Qeaeygar 70,000 1,20,000

From the following particulars of Maria Lid. and Kala Ltd., prepare common-size
income statement for the vear ended 315 March 2019.

Particulars Nt 1t Bala Lig,
T T
Revenue from operations 1,00,000 2,00,000
Other income 10,000 30,000
Expenses 70,000 1,20,000
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38. Ganauid geadsaiadimbal LD % QurpiiLmer aflflzsang sanmédLab.
31.03.2018 gjenemp GmLil Hmeod @loy (aumeiu)
eSleumb 4
1. Ui QPEOSETID HmId Quumliser
1. urigsnrT
(<81) Uk apga

Crreninll LBIGSET 1,00,000
(=24) smOLsET wpmb WlEd) 60,000
2. Hawaral QuImysdr :
Ber_ara sLesdr (sLaf G uSSyhser) 80,000
3. pLOyU Qumpiliyser ;
50,000

(<o) saméEEd (b Grguss Calaiquamase
(<) @sr pOyl Quimyiyser DanBuL Couaing L GFaeysar 30,000
QgL 3,20,000

From the following information caleulate debt equity ratio.

Balance Sheet (Extract) as on 31.03.2018

Particulars 4
1. Equity and Liabilities
1. Shareholder's Funds
(a) Share capital
Equity share capital 1,00,000
(b Reserves and surplus 60,000
2. Non-Current liabilities :
Long-term borrowings (Debentures) 80,000
3. Current liahilities :
(a) Trade payables 50,000
B oy
Total 3,20,000

EI [ Amiys [ Turn over
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39. saradlud sramrelaih ®fsa Ny @dliy wmrs,

Write a brief note on Accounting Vouchers.

Geafld araiaury Garenmiy erems SmLeub.

T
1.4.2018 sy eflevamuni G Quingyersser @0 32,000
S Gusuramg.d aumbidly eflenemum’ G Cummarger 1,68,000
S CUAUTETILE Lanw efenarunc (U Qumgyeraer silpg - 1,000
31.3.2019 syamy eflenamwim Gt Quingnarsar @y ;20,000

40. Yenaund aleurmisdr wiiggran b Quanaedr LaTur’ () wernhde @nds sans

How will the following appear in the final accounts of Marthandam Women Cultural

Association ?

4
Stock of sports materials on 1.4.2018 ;32,000
Sports materials purchased during the year : 1,68,000
Sale of old sports materials during the year ! 1,000
Stock of sports materials on 31.3.2019 ;20,000

u@$l - IV / PART - IV

GDOILY : yenemss llamrasenbEn elenweflésay.
Note :  Answer all the questions.
41, (=) Qemeumid efleuriasaiiafimbg Corgsds Qanarapseans aamidllajib.

efleumb 4
2017 grogéd 1 ey upua aLaTbCami 75,000
2017 g 1 iemy QrapsanE i wromed () 60,000
sLaitCanmig Qegsdu Qrrisib 3,70,000
Qegisen@ v wrppss Gée degisdug 1,00,000
Clamempsa Smuub 15,000
Qrr&es Qaranipse 3,20,000
2018 wrié 31 ety sLaBGHTT 50,000

2018 g 31 ey Ceaybshsiu s ) 80,000

Si60605)

7x5=35



13

5957

(cop) coygnamedn By de A1.03.2010 - prevar eralrsio Fisiiny flenai

(ML eblan i)
(i) ym o Qumpien e winflmin
(it} & dammunani S RAEATY m[hr._}ub

(iti] qnaed p-madind afldlsb me &L,

0 efleupib ?
I LRI PSSO WHMID ClLTH DL &6
1. umi@srr HE
(=) URIE WS
Crrenwll URkIEG (gD 1,50,000
8% qpegyflenios LhE WS 2,00,000
(<) sriyser epm g 1,50,000
2. e aras Aummluser
BerL sred sLensdr (9% sLafl () ug,gﬂgrmesm) 4,00,000
3. pLuuG Qurgliysar
() amdOmbs Qupp Gndu sre sLcrsar 25,000
(&) BeRmEEsT apab Qmss Caigmg eauseT 73,000
B Quors s 10,00,000
. Qenggimen
L. fair_sined Cerggsar
HlencoF Clsnsgser 7,50,000
2. pLuys Uanggisen
(<) Fpsdlmuy 1,20,000
(<) SemmEEsen ppaid Gun Ceudg 66T 1,00,000
(@) Qrrésid Hmbd AyTEssHbE FLOLDTETENELHET 27,500
(/) @7 Bl Qenggyear
Qemeysmer patsal s QouBSLg) 2,500
Qur&sLb 10,00,000

[ Algpiiys / Tarn over
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(1)  From the following particulars caleulale total purchases.

l Particulars _______3_____
Sundry creditors on 1° April, 2017 75,000
Bills payable on 1% April, 2017 60,000
Paid cash to creditors 3,70,000
Paid for bills pavable 1,00,000
Purchases returns 15,000
Cash purchases 3,20,000
Creditors on 31" March, 2018 50,000
Bills payable on 31*! March, 2018 80,@

OR
(b]  From the following Balance Sheet of Arunan Ltd. as on 31.03.2019. Calculate
(i) Debt-equity ratio
(if) Proprietary ratio and
(iii) Capital gearing ratio

Particulars X
I. Equity and Liabilities
1. Shareholder's funds
(a) Share capital
Equity share capital 1,50,000
8% preference share capital 2,00,000
(b) Reserves and surplus 1,50,000
2. Non-current liahilities
Long-term borrowings (9% Debentures) 4,00,000
3. Current liahilities
(a) Short-term borrowings from banks 25,000
(b} Trade payables 75,000
Total 10,00,000
II. Assets '
1. Non-current assets
Fixed Assets 750,000
2. Current assets
(a] Inventorics 1,20,000
{bj Trade receivables 1,00,000
(c) Cash and cash equivalents 27,500
(d) Other current assets
Expenses paid in advance 2,500
Total 10,00,000
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42, (en) SUID &t uth Al Sjpdmngpn gm.;a|.;-im.:.1ils.uﬂlrl_r,rri,m 2019 10rrs 31 --9ih

* . . . . . . .
e (P QEEmE U (.,-',{"4._'..,; (,;\,.'1,(.3_;“‘,][” (AN el o i BEsE AL A

i

RNSHIE 0 2 : P
b dlaard, sumi Qo).

o ~ efleumd T sfleumb __i___

dene da Qunds Gann g (1.1.2018) 18,000 L Lt canriadln i 2,10,000

QUL (e gt g 0,000 eaflwimentt siLsmi 55,000

agatle Aanas Sefldes 15,200 g Quibmay 2,65,000

ROLDEYS s L @i upmay 18,500 |
2|0

(<) spsrey, wEsey LHmD FEEaw e sl Lraflsdr 3 2 2 1 1 eren afflpadla
Qerurisdr LHmL BULksmer udipg absai. 2017 wiré 31
SaUTSERLIL GmuiL Bemad @OloL Gdramomny

QurmyLiLysen 4 T Qng g6 3

WPED GO EGSHT FULLLD UQUGE

R ot 40,000 SUTEHEND 30,000

s 60,000 srsEmi 26,000|

FEHAIL 30,000| 1,30,000|g_esreflsar 25,000

Garus L udlia) 3] 12,000|ens@rasd 15,000
Gurgd smiy 24,000
Ggmflemarnt m_HES 18,000
Qegussn@iu wiHmss’ § 22,000

2,06,000| 2,06,000

Lligy syT @emuth, Gungd sy WD Qsm@eorar L GiH Curemeuianm
uélipgefluugnsrar GOINCULE udlajsar gms. Gogib g Lraflzatlen wpsd

HETEMS SLINTIFHALD.

[ Hgpliys [ Turn over
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(1) From the following particulars of Tamil Educational Society, prepare Receipts
and Payments accounts for the year ended 31% March, 2019.

e
Particulars I Particulars 3
Opening cash balance as
on 1.4.2018 ke 18,000|Building purchascd 2,10,000
Rent paid 6,000|Staff salary 55,000
Scholarship given 15,200|Subscription received 2,65,000
Entrance fees received 18,500[

OR

(b]  Akash, Mugesh and Sanjay are partners in a firm sharing profits and losses
in the ratio of 3 : 2 : 1, Their balance sheet as on 315 March, 2017 is as

follows :
Liabilities Z T Assets T
Capital accounts : Buildings 1,10,000
Akash 40,000 Vehicle 30,000
Mugesh 60,000 Stock in trade | 26,000
Sanjay 30,000 1,30,000|Deblors 25,000

Profit and Loss appropriation A/c

General reserve

Workmen compensation fund

Bills payable

12,000(|Cash in hand 15,000

24,000
18,000
22,000

2,06,000

2,06,000

Pass journal entry to transler accumulated profit general reserve and workmen
compensation fund and prepare the capital account of the partners.
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43. (=) Génaumib aeaugiisalld Embg ewi @erusfla I sparHedr Rararps

STED SHiguuamt uld pp@uufar whleu sarsLab.

(i) USURSHULL L WD . Z 2,00,000

i) svgmren @y oHsn . 15%

i) efwrunrsdar sprefl @eorun: T 42,000
S|V

(&) gami Blmiwon T 10 wdyerar 10,000 Gpranol UBIGsaar eflgimenTiug Sler
Gurg) T 5, @sdlcer Gurg T 3, wsarnd wipw @nd epuda Gung
%2 Qegysmd aemsule Qoelliiur Lg. 9,000 UkiEsmsT ks Gurg
wazeT el 1945 crarant. @us@HTEeT 9,000 LRIGSMELD @5IEED CRiis
<snate Osreasomuyd Qupns AsrarLar. Ceoawra GHLGLL(U

Uglaysener Freyl.

(a) From the following information, calculate the value of goodwill based on
3 years purchase of super profit. '

(i) Capital employed i ¥ 2,00,000

(i) Normal rate of return : 15%

(iii) Average profit of the business : T 42,000
OR

(b) Joy company issued 10,000 equity shares at ¥ 10 per share payable ¥ 5 on
application, ¥ 3 on allotment and ¥ 2 on first and final call. The public
subscribed for 9,000 shares. The dircctors allotted all the 9,000 shares and
duly received the moncy. Pass the necessary journal entries.

[ ﬁ@uu‘}; / Turn over
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A4 (=) Sadraimin wa Hpnnddan 2016 wrid 31 whmith 2017 i 31 -2LL0 HITEHETIL

""‘Ulﬁl (G @d‘ﬂ oy Iiﬂﬂmm. @l NDewanrd, gt Glou @b, e

&fleuin

URIEh gpevmennd ihmih Qurgynymen
1. umigggrri 114

1.

(=] Lthigh qpge
(=24 sl ih il dlu i
2. faw srad Qu TGy sar
Bl srad sLdsdr
3. mody Qurpidsn ser
' SRTESG ST Apavid

I Qeanis Gaucimg Wisneumdr
|

G]mrrg,gﬁ:

. Qengsser
1. hakr_srad Qemsgmer
(=zt) Flenaug Clardg s
(=) Bam_srw wpsad@ser
2. By Cengg ad
sr&dmoy

Gyréain wHgn QyréssSne Fobratensusdr

‘ QLDI‘I.G_")QLE]

2016 wriré 312017 wrrF 31
4 I
2,00,000 2,50,000

50,000 50,000
30,000 60,000
20,000 £0,000
3,00,000 4,20,000
1,00,000 1,50,000
50,000 75,000
75,000 1,50,000
75,000 45,000
3,00,000 4,20,000

S{600G)

() earlig wenwdlp wearpsdear Gearaumd Qupisdsar LHyD CEqssdEdr
semddledhhg 2018 wris 31 -y préamy el ub o EaEnu
aumeurs opmith Glsevellans wanssns swrhlssab.

Quimyssras | = Qe comer ?
GQFm_ds @l eflenamwir’ (s Qummerser
eng Clyndsin 5,000 auniiiuig 10,000
anms Qupps) 10.000ferpz Guraenssts Qugusdug| 7 000
wsSPadr elpna 8,000 sl i@ umg) Ui g, 25,000
s B 54,0005 b 0sami 20,000
Boé @eoy
@& QrTash 15,000
77,000
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(2] From the following particnlars, prepare comparalive balince sheet of Malar

(b)

Ltd. as on 319 Mareh, 2016 and 31

March, 2017,

r Paiticiilaes 31" March, 2016 |31" March, 2017
T b4 4
I. Equity and_l,—i:t;ilitlos il
1. Sharcholder's fund
(@) Share capital 2,00,000 2,50,000
(L) Reserves and surplus 50,000 50,000
2. Non-current liabilities
Long-term borrowings 30,000 60,000
3. Current linhilities
Trade payables 20,000 60,000
Total 3,00,000 4,20,000
II. Assets
1. Non-current assets
(a) Fixed assets 1,00,000 1,50,000
I (b) Non-current investments 50,000 75,000
k, 2. Current assets
E Inventories 75,000 1,50,000
5 Cash and cash equivalents 75,000 45,000
| Total 3,00,000{ 4,20,000

OR

From the following Receipts and Payment Account of Ooty Recreation Club,
prepare income and expenditure account for the year ended 31.03.2018.

Recelpts 3 Payments 4
To opening balance By sports materials 10.000
Cash in hand 5,000 purchased *
Ta rent received 10,000| By stationery paid 7,000
Ta sale of investments 8,000| By computer purchased 25,000
To subscription received 54,000| By salaries 20,000
By closing balance
Cash in hand 15,000
77,000 77,000

| Slgptiys / Turn over
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(b} From (|
e o i ;
P ._“n“m?'\ particulars, ealeulnte total sales.

Dely ['._ o _I:_:r_l_!p},_]nré‘_ __‘_-____- ] T___ o _Parlicplu-rs | T
lliil TEON 1T Apel 2014 2.;‘:0__:)()(_) 13ills receivable dishanoured | 15,000]
C,“:‘Tr‘ml‘“iﬂt‘. on 19 Apwil 2018 | 60,000 Returns inward su,rmni
b debors 7.25.000|B3ills receivable on 317 March 2019 90,000
Cash received for 1 Lo al
|Bad detns for ills receivabie | 1,60,000|Sundry debtors on 317 March 2019 | 240,000
ad de . g
ﬁ.E______ - - 30,000|Cash sales e 3,15,000

O G :
4. (= @) SW, wran g Sar eram sl LTellseT Sris6T Geommsener 2:2: 1
T e EAd L unsen. BLG eaT e sl LTET@LDML GG
agm@-@l‘"ff- e Wi Sareyd@in e G 2 arer yéhu Georu Ll el
& 6\"&]9_’“3 3:2 wgrw dsdms samsseyD.

() safld, sng wHmn shell aerm sl Lralsar pRISE G orunFEamer
3 134 garp dldzgda udlipa) cubsent. FHeM arearual
sl Lrarewou fLf doghAprt Lpyd oL UEG
Yrpaumsud safld ahEgé Cersalpm. Ldu Gamu udliay eF0

wHnID s dldssmss sarsilla)b.

S s LAV :
(=) U;II'I'GrJLﬁlm winb s&d Hpywnsden Gdamb seadaetelmbal Quirgj ey
Hdflma siflamslaas sum Qeiwa)b.

Saiiis mnsﬁatﬂs': Ao | s68 I?QJLDLE)

Al

L Uk apeugenid HRI Qummcy&er
L udiggryr £4

() Ut s 2,00,000 3,00.000

(=21} sroy Bl duyb 30,000 60,000
2. Bam sy Aurgriy s

Rair L ST0E &1 erHe 1,50,000 1,80,000
3. pLiul GQurmiiyser [ !

st HE B fpab CamEs (B T 1y LI 60 6 &6 1,00,000 60,000

Qurgsw 5,00,000 £,00,000

I1. Qlans g1men
1. fairLgneas Qanbgiser

(1) Benad (D E T mET 2,00.000 3,00,000,

() s _aTe) (pBa(H#eT 50,000 1,20,000

2. pLULE Qan g sar
sradlmiy 2,00,000 90,000
Qrrash wigb Arréssfibe &owranen e 50,000 90,000
| Qurssts 500,000  6,00,000|
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ts in the ratio of

(@) () Rayal, Mala and Neela are partners sharing profi
: Mala

2: 2 1. Kayal retires and the new profit sharing ratio between
and Neela is 3 : 2, Caleulate the gaining ratio. )
(i) Sunil, Sumathi and Sundari are partners sharing profits in the ratio F)f
3331 4. Sundari retires and her share is taken up entirely by Sunil.
Caleulate the new profit sharing ratio and gaining ratio.
OR
(b} Prepare common-size statement of financial position for the following
particulars of Yasmin Ltd, and Sakthi Ltd.

Particulars Yasmin Ltd. | Sakthi Ltd.
g T
I. Equity and Liabilities
1. Sharcholder's fund
(a) Share capital 2,00,000 3,00,000
(bl Reserves and surplus 50,000 60,000
2. Non-current liabilities
Long-term borrowings 1,50,000 1,80,000
3. Current liabilities
Trade payables 1,00,000 60,000
Total 35,00,000 6,00,000
II. Assets
1. Non-current assets
(a) Fixed assets 2,00,000 3,00,000
(b) Non-current investments 50,000 1,20,000
4. Current assets
Inventories 2,00,000 40,000
Cash and cash equivalents 50,000 90,000
Total 5,00,000 6,00,000




- 5957
1. () wCaa
(<=4 (.l:\“- f— 3 il
) say Hong e Geraimib @anur prr oiflsensudSmps
(i) Guwongg @anu efdein

) P&y Qe s sensfab
WGsey Apiogder Beonuml L Siflésma.

ehiciiiit Qgrena
4
L alpuenan apad Quipm au(H e 2,50,000
L. @57 eugmlomand
wsd® apeid auheuri 20,000
I Qurés aumeumi (1+1) 2,70,000
V. Qeaeyser :
Qsrerapga Qs sT5HEGS 90,000
F7&E UL WTHDD 10,000
Leflwreri poensEnsaTar Qeweasar 15,000
@)s Ceaaysar 55,000
afl p5IES 25,000
Qurés Oawaysdr 1,935,000
V. jeueurany harer @aruid 75,000
|06

(=) seflaflows samsdwd paplan LwaurGsafd gCGaaib ghdlmen
aflensaayb.

@ [ Amiys / Turn over
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(@l From the following statement of profit and loss of Mukesh Ltd. Calculate,
1l Gross profit ratin
() Net profit ratio

Statement of Profit and Loss

Particulars Am;unt

_I. Revenue from operations _m
1. Other income :

Income from investment 20,000
1L Total revenues (1 + II) m
IV, Expenses ;

Purchase of stock in trade 90,000

Charges in inventories 10,000

Expenses on Employee benefits 15,000

Other expenses 55,000

Provision for Tax 25,000

Total Expenses 1,95,000
V. Profit for the year 75,000

OR

(b) Explain any five applications of computerised accounting systems.

-00o0-



